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Section : General Knowledge & Current Affairs & General Awareness about the Environment

Q.1 The Ocean is the shallowest of the world's five major oceans.
Ans & 1 Pacific

x 2. Atlantic
( 3. Arctic

x 4. Indian
Question ID : 764584833
Status : Answered
Chosen Option: 1
Q.2 ____ #dfter & ooy o gl € ofik I errgasfisht gt sirer 81
Ans  of 1 sigurdaa
/< 2 wewgR a
/X 3. e
75 4. uofur e

Question ID : 764584831
Status : Answered
Chosen Option : 4

Q.3 The folk dance Maruni is performed during
Ans x 1. funerals

x 2. Dusshera

J 3. weddings

75 4. Holi

Question ID : 764584827
Status : Answered
Chosen Option : 1




Q.4 The chemical commonly used in baby diapers for its super absorbent properties is

Ans X" 1. Sodium thiosolate
J 2. Sodium polyacrylate
x 3. Silver lodide

x 4. Ammonium Nitrate

Question ID : 764584830
Status : Answered
Chosen Option : 2

Q.5 1885 Hug & MR AL Hidw il daah hi sregsrar il
Ans X" 1 Sifef e

W 2 S aef

#< 3. areré Ash

/X 4. 9ezE dgash

Question ID : 764584836
Status : Answered
Chosen Option : 3

Q.6 Who was known as 'Devanampriya Priyadarsi'?
Ans X" 1. Chandragupta Maurya

x 2. Bindusara Maurya
“ 3. Ashoka Maurya

x 4. Mahapadma Nanda

Question ID : 764584837
Status : Answered
Chosen Option: 1

Q.7 siish vmer # wifged & & 7 Ade RepR d swfRAa g aremugenafs @1
Ans X" 1 gerdd g

o 2. weurd e

/X 3.3

75 4. A sifug

Question ID : 764584839
Status : Answered
Chosen Option : 2




Q.8 What was India’s rank in the Commonwealth Games 2018 in terms of number of gold medals

Ans

won?

o 1. Third
/X 2. First
x 3. Second
/X 4. Fourth

Question ID : 764584854
Status : Answered
Chosen Option : 1

Q.9
Ans

#5 1.K.D. Jadhav
x 2. Sushil Kumar

x 3. Gagan Narang
( 4. Abhinav Bindra

is the India’s first ever individual gold medallist at the Olympics.

Question ID : 764584850
Status : Answered
Chosen Option: 3

Q.10 ___ 9e o<1 AT &1 4 &1

Ans

X0 1. diefieR
75 2. srgamardht
/X 3. Ao
o 4. v

Question ID : 764584832
Status : Answered
Chosen Option : 4

Q.11 36d Haiter A RifTerm &t wRda dw @1 quf Irea o=t R ok st a0 witfa famam

Ans

2501 A
/X 2. TRedt
o 3. et

X 4. s

Question ID : 764584843
Status : Answered
Chosen Option : 2




Q12 freadu ____dFITdI
Ans (1457—@;

X 2. dsfieT

75 3. 7w

X 4 geda

Question ID : 764584845
Status : Answered
Chosen Option : 3

Q.13 Uttarayan festival is celebrated in the month of
Ans X" 1 March

75 2. April
“ 3. January
x 4. May

Question ID : 764584826
Status : Answered
Chosen Option: 1

Q.14
Ans x 1. Bank of Baroda

was established in 1935 on the recommendation of Hilton-Young Commission.

x 2. State Bank of India
x 3. Central Bank of India

J 4. Reserve Bank of India

Question ID : 764584828
Status : Answered
Chosen Option : 4

Q.15 Who has been named as the captain of Cricket Australia's ODI team of the decade?
Ans X" 1. Michael Clarke

o 2. MS Dhoni
x 3. Kumar Sangakkara

x 4. Chris Gayle

Question ID : 764584852
Status : Answered
Chosen Option : 1




Q.16 Tggad Heited A dote & gl e ol ol Y et S1afY ek g i girem ver fi
Ans X 1 uig

X 2.

W 3%

X 4.w8

Question ID : 764584842
Status : Answered
Chosen Option : 1

Q.17 Rsmae ____ &1 & 81
Ans  of 1 ceraETR AT
7 2. gy &R
7< 3. R mieh
7 4. mrgreA it

Question ID : 764584841
Status : Answered
Chosen Option : 1

Q.18 7 &RiT ifoh arTe T 3 ke A &2
Ans X1 fawor ad

X 2. e g

75 3. R gaufy

o 4 sl

Question ID : 764584840
Status : Answered
Chosen Option : 2

Q.19 TeMeA A WRA-UTfREa awsia # ueH fhe o d<est @u (uffyw swer d foa) &
WRAT &1 & aheot vl Ramaa 1
Ans X" 1 et
75 2. zat
/X 3. gt

o 4 i

Question ID : 764584848
Status : Answered
Chosen Option: 1




Q.20 YT TeATTAT ____ o1 Hated AR 81
Ans (Imﬁ'cm

X 2. 38 e

75 3. qRmn

X 4.z

Question ID : 764584834
Status : Answered
Chosen Option : 2

Q.21 The first Indian to win the All England Badminton Championship is
Ans X" 1. Prannoy Kumar

#< 2. Srikanth Kidambi
f 3. Prakash Padukone

x 4. Pullela Gopichand

Question ID : 764584844
Status : Answered
Chosen Option : 2

Q.22 anfdfes wderor 2018-19 & AR, Rfar 2018 & i & wiRa w1 frdsft ot e ur?
Ans X 1 gua €fer 121.1 fferm

75 2. guaEier 221.1 Rt

/X 3. gqua fer 421.1 Rferaa

o 4 7u iR 521.1 Rfere

Question ID : 764584851
Status : Answered
Chosen Option : 2

Q.23 huq IsTasr i et offi
Ans  of 1 oo

K 2 %R

75 3. qfer

75 4 iR

Question ID : 764584838
Status : Answered
Chosen Option : 2




Q.24 fagy A e Aifdn fheher &1 ugeln RS uraeRat 21
Ans ?(1;@;[;[—21—5—

W 2. & wam

75 3. TR dgeem

/X 4 e i

Question ID : 764584849
Status : Answered
Chosen Option : 3

Q.25 siRfflawqfl Se g # fea gl
Ans x 1.9Rg

X 2. R

X 3.

W 4

Question ID : 764584846
Status : Answered
Chosen Option : 2

Q.26 Which of the following won the ‘Best Country Album’ award at the Grammy Awards 2019?
Ans X" 1. Brothers Osborne - Port Saint Joe

x 2. Ashley McBryde — Girl Going Nowhere
x 3. Kelsea Ballerini — Unapologetically

( 4. Kacey Musgraves — Golden Hour

Question ID : 764584855
Status : Answered
Chosen Option : 4

Q.27 Which of the following is not a tributary of Krishna?
Ans x 1. Koyna

75 2.Bhima
J 3. Tawa

x 4. Tungabhadra

Question ID : 764584835
Status : Answered
Chosen Option : 3




Q.28 IqeRE 2324 Q&G
Ans o 1. sitoor & R siftaR
X 2. o &) i @ R
75 3. T o AR
/X 4. GufRy & afdreR

Question ID : 764584847
Status : Answered
Chosen Option : 2

Q.29 Rder 2019 &, SFTes ¢u smRA sfgrw & 2@

T T 8l

Ans xmg;q-}
P A
o 38R

75 4t

— wrgufa o e e warforahr

Question ID : 764584853
Status : Answered
Chosen Option : 2

Q.30 The Minimum Support Price (2019-20) of Ragi is

Ans X" 1 Rs.2100

o 2.Rs.3150

/< 3.Rs. 2897
75 4.Rs. 1700

Question ID : 764584829
Status : Answered
Chosen Option : 2

Section : Reasoning & Mathematical Ability




Q.1 XYZ Company has decided to recruit engineers. A candidate must
a) be a B.Tech with at least 65% marks.
b) have work experience of minimum 3 years.
c) should be ready to be on probation for a year.
d) should be at least 22 years old as on 01-05-2019.

In case a condition given above is not satisfied, an alternate condition for the same is given
as below:

1) If (a) is violated but the candidate has obtained at least 50% in graduation and has at least
three years of working experience, the case may be referred to the General Manager (GM).

2) If (b) is violated but the candidate is a computer engineer with at least 1 year of work
experience, the case may be referred to the Deputy Manager (DM).

Kailash is an electrical engineer working in a software company for four years. He has scored

55% in his graduation (B.Tech). He was born on 15-05-1994. He is ready to be on probation
for an year. Then -

Ans X" 1 His case is referred to DM.
x 2. Heis selected.
x 3. Data inadequate

“ 4. His case is referred to GM.

Question ID : 764584864
Status : Answered
Chosen Option : 2

Q.2 =i s sjiaen o guf w3-
16,21,31,46,66,
Ans X" 190
/X 2.86
75 3.76
W 4.9

Question ID : 764584867
Status : Answered
Chosen Option : 4

Q.3 Jaya, Kirti, Lalita, Meenakshi and Nita are sitting on a bench. Nita is to the left of Jaya and is
at one end. Meenakshi is to the left of Lalita who is not at the end. Who is to the left of Kirti?

Ans X 1 Nita
of 2. Laiita
X 3. Jaya

x 4. Meenakshi

Question ID : 764584862
Status : Answered
Chosen Option : 1




Q.4 Find the wrong term in the following series:-

LO, HK, DG, ZC, UX

Ans X" 1.DG
X 2.zc
o 3.Ux
X 4. HK

Question ID : 764584856
Status : Answered
Chosen Option: 3

Q.5 g Fiffa wie 8, "MANIAC" Tt "MNAICA" frar mam &, "SANITY" &t & foram e 22
Ans X 1 SNATIY

o 2 SNAIYT
/X 3.SNAITY
75 4. SNAVIT

Question ID : 764584861
Status : Answered
Chosen Option : 2

Q.6 9 S A1 T R Sl I ThR A Tafdd & T verr 9w 7 & 0 S S&6lda @1
GL:JO:LQ:?
Ans X1 TD:WH:ZA
/5 2.UE:WG: zI
75 3.TD:VH:ZI

of 4 UE:XH:ZJ

Question ID : 764584860
Status : Answered
Chosen Option : 3

Q.7 feu g fRereal & 7 gur= & ok ger s @1 39 faerew &t 19 &1 it o= & a1 81
Ans X" 1 HKN

o 2107
/< 3.wze
X 4.Psv

Question ID : 764584858
Status : Answered
Chosen Option : 3




Q.8 Inthe question two statements are given, followed by two conclusions, | and Il. You have to
consider the statements to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : All cats are jackals.
Statement 2 : No tigers are cats.

Conclusion | : Some jackals are tigers.
Conclusion Il : All tigers are jackals.

Ans X" 1. Both | and Il follow
X 2. Only conclusion | follows
X 3. Only conclusion Il follows

J 4. Neither I nor Il follows

Question ID : 764584866
Status : Answered
Chosen Option : 4

Q.9 I faehed a1 ag 3 Sit o T @ I uaR @ Ha&fda & o ver & ugef e gudt
e § "dfda g1

1.07:0.0107:1.19: ?
Ans  of 100119

/< 2.1.0019
75 3.0.00119
X 4.0119

Question ID : 764584868
Status : Answered
Chosen Option : 2

Q.10 39 feheT &1 994 &R ot AR Ug & I yahR @ Haifda g M9 TR d ugar ug g o &
Hafda 81

SRR afq o R ?
Ans X‘Lﬁgﬁ:{

X 2. @
o 3.~

< 48R

Question ID : 764584859
Status : Answered
Chosen Option: 1




Q.11 A3 B & gt "y &) ag & IR & 919 F a2 51" B, A ¥ &% Hafda &7
Ans X" 1 B AdH T

#< 2. B, Ao sE=itg/aren &

o 3B AT ER

X 4B ATGR

Question ID : 764584863
Status : Answered
Chosen Option : 3

Q.12 Two statements are given followed by two conclusions | and Il. Considering the statements
to be true, please decide which conclusions follow.

Statement : People who are sick need to be treated.
Sakshi was sick and was hence taken to the hospital for treatment.

Conclusions :

1. Healthy people do not need treatment.
II. Sick people need to go to the hospital for treatment.

Ans x 1. Neither | or Il follows
J 2. Both conclusion | and Il follows
x 3. Only conclusion Il follows

x 4. Only conclusion | follows

Question ID : 764584865
Status : Answered
Chosen Option: 3

Q.13 =i sier siEen # g ug 71 &2-

EHK, JMP_, TWZ
Ans & 1 RSV

o 2. 0rRU
75 3.sTU
/X 4.0sv

Question ID : 764584857
Status : Answered
Chosen Option : 4

Q.14 af¥ A:B:C = 3:6:9 &, &t A/B:B/C:C/A &1 31Ut FTd h?
Ans X1 1:49

X 2.239

o 334718

X 4.2:69

Question ID : 764584879
Status : Answered
Chosen Option : 3




Q.15 Find the sum of digits of the biggest 6-digit number divisible by 14, 15, 16, 18 and 24.

Ans X" 140
o 236
/X 3.44
/X 4.48

Question ID : 764584873
Status : Answered
Chosen Option : 2

Q.16 Find the value of X: 56/8 x X/2 +28/7 =11

Ans "1 1
X 2.3
W32
X 44

Question ID : 764584869
Status : Answered
Chosen Option : 3

Q.17 Uk et & Uy 1-3Uy, 2-5UQ 3R 5-0¢ & fRAaehl &l e 320 $uQ &1 399 &R UhR &
Ryerent Y TiveaT sRTSR &1 I9 U Tt fhat Fach 87

Ans X" 160
X 2.30
/< 3.90
W 2120

Question ID : 764584871
Status : Answered
Chosen Option : 4

Q.18 faneft 2rgR Y STt 3 aef deh 10 % it & @ Tt @ oz v 4% af 7 20 % & gt =it &,
AT ST T §, f R & Uget adf | srwwer 20000 oft?

Ans  of 1 21296

/X 2.31944
75 3.26620
/X 4.19360

Question ID : 764584876
Status : Answered
Chosen Option : 1




Q.19 What is the ratio between 4 inches and ¥ feet ?

Ans o 1111
X 2.43
< 3.32
X 4.23

Question ID : 764584878
Status : Answered
Chosen Option : 1

Q.20 In a chess board if 8 white squares are painted black, find the percentage of black squares on
the board?

Ans X" 175 percent

( 2.62.5 percent
x 3.72.5 percent

x 4. 60 percent

Question ID : 764584875
Status : Answered
Chosen Option: 3

Q.21 <Iehqfe saTeT AATRAH & & & Feu 15000 FUQ R 3 a¢f & AreRor <arsT & 986 FUY fAek giar
HEIEETEsE cead]

Ans  of 1 12 ofdeE
75 2. 10 ufdera
/X 3.8 ufaa
/X 414 v

Question ID : 764584880
Status : Answered
Chosen Option: 3

Q.22 69 grAwT i ATFRI A F&d |
Ans 3" 1.1000110

75 2.1000011

75 3.1001001

o 4.1000107

Question ID : 764584870
Status : Answered
Chosen Option : 2




Q.23 What is the result when 0.129129129... is converted to a fraction?
Ans X" 1.129/666

75 2.43/999
/< 3.129/333

of 4.43/333

Question ID : 764584872
Status : Answered
Chosen Option : 4

Q.24 A B3R CA1ad & forg shasr: 5%, 6%, 3R 7% ufa aef & faeroft (Ref) & ReR e==ify a1
fder famari A 3R C it svars A siar 300 uT &1 B ZRT fAaer i s afay frat 82

Ans o 1 15000 z0Y
/5 2.20,000 3Y
75 3.25,000 7Y
/5 4.10,000 3Y

Question ID : 764584877
Status : Answered
Chosen Option: 1

Q.25 A shopkeeper sells an item with 40% profit. Find the discount on selling price if he sells the
same item for Rs. 60, if his cost is Rs. 50.

Ans X" 1.15.5 percent
x 2.18.6 percent

J 3. 14.3 percent
x 4.16.7 percent

Question ID : 764584874
Status : Answered
Chosen Option : 4

Section : General Hindi & English

Q.1 fA=fafaa uu d ar el & @, 39 faeed o1 ag9 & &t 98} arey 9 &1 Raea g

# arg=T 9w Sfasr emienT & faardafii
Ans X 1. fagrare

W 2 s a
/X 3. Tgare ae
75 4. g A

Question ID : 764584889
Status : Answered
Chosen Option : 4




Q.2 fAAfefad usr d, ar Aaeat d @, 39 ferey o1 wa+ &2 st Rk A & g Sugeh 21 &1 g
e g
ugEUIET S gaTe-gME |

Ans jlg;ﬁ
/X 2. gufea
X 3.9
X 4. =fea

Question ID : 764584886
Status : Answered
Chosen Option : 1

Q.3 fA=fafad un §, TR el § @, 39 faeea o1 oa & &t 2T 7Y 20 1 98 999 T aret
farea gt
XSl
Ans X1 wfa
K 2.2
X 3.z
W 4T

Question ID : 764584883
Status : Answered
Chosen Option: 3

Q.4 =@ vy b, ar Raeal § 9, 39 e o1 g7 & =it Ry g 256 & forg ot fpawma &
forug o1 faerea g1
Geeil
Ans X" 1 gR SR ST
X 2. =R e

#< 3. TR S

o 4 TR et @ T

Question ID : 764584882
Status : Answered
Chosen Option : 4

Q.5 f=fafad vy 8, ar faeeal # @, 39 frered o1 wa= =3 st Ry 71 2reg & fasia 2reg 1 ad
e g
STRROT -

Ans &1 2
75 2. s
/X 3.3

W 4 Fa

Question ID : 764584884
Status : Answered
Chosen Option : 4




Q.6 fF=faf@a usr &, ar Rereal d @, 39 TE fAeheq 1 =g & it aramiai & g ue 2w &1
farea gt
oo si== i 3=t 8t

Ans X1_3|Tan
Jz.ﬁm
75 3. omg

/X 4. aoia

Question ID : 764584885
Status : Answered
Chosen Option : 2

Q.7 fA=fafae v &, ar fRereal & @, 39 fAheq &1 a9 & 51t et ShfeiT ae ereg o1 9t Reea
adg

Ans X1 meRar
Jz.au‘im

< 3. med
X 4 wem

Question ID : 764584890
Status : Answered
Chosen Option : 2

Q.8 frafaf@a uw &, ar et 7 @, 39 ferea @1 aa= & st fag 7 2reg & g aga= ez &1
& srest ey g1

fem

Ans Xm‘agn
X 2. e
7 3. Rrnait
o 4 g

Question ID : 764584891
Status : Answered
Chosen Option : 4

Q.9 fr=fafae vy d, ar Rareal d @, 39 frehed &1 a1 = &t RY 71 2reg & wd) G- &

Question ID : 764584881
Status : Answered
Chosen Option : 1




Q.10 = Rreret & & RAEngar arer uRasd+ &1 e gfg
At 3 gt gerd| (e )

Ans o 1.7 & grr el g
75 2. g A A g
#¥ 3.7 e gt 3
75 4. 5AR R § e R

Question ID : 764584888
Status : Answered
Chosen Option : 1

Q.11 F=fafae us d, arR Rl 9 |, 39 Raea o1 =9g= & st Ry 7g areier & forg a8 dieis
a1eT e 81

PR T U1 61 TIEel &
Ans X 1. g+t wafer § T
75 2. Qe fh &1 €A 8 W
/X 3w afn
o 4. s & awg B i AR

Question ID : 764584893
Status : Answered
Chosen Option : 4

Q.12 fFAfafad ver d, TR Reeul d 9, 39 fadeu o1 a9+ & 5t Y 2T 1 98l e 8 |
Ans X" 1. chiferenriadt

X 2. iRt

/X 3. et

o 4wttt

Question ID : 764584887
Status : Answered
Chosen Option : 4

Q.13 F=fefEa v 8, aR Raeal 7 |, 39 ey o1 9u9 & =it g e ggrer =1 agt oref aren
fasrea 81
Qehid <kl QAT AT

Ans X" 1 sred ae
25 2. it &t ofte g
fs.mﬁa—s‘mm
X 4. wof ol gu ae

Question ID : 764584892
Status : Answered
Chosen Option : 3




Q.14 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

The thunderstorm scared the dog, so (he hided under the) bed.
Ans x 1. he hid over the

x 2. No correction required
x 3. he hid between the
J 4. he hid under the

Question ID : 764584896
Status : Answered
Chosen Option : 4

Q.15 Select the word that is spelled correctly.
Ans X" 1 Etiquiete

x 2. Etiquete

J 3. Etiquette

x 4. Etyquette

Question ID : 764584904
Status : Answered
Chosen Option: 3

Q.16 Select the most appropriate word that fills in the blank correctly and completes the sentence
meaningfully.

Imetanextremely_____ professor in New York.
Ans X 1. learnt

X 2. learns
J 3. learned
X 4. learning

Question ID : 764584899
Status : Answered
Chosen Option : 1

Q.17 Select the word that is closest in meaning (SYNONYM) to the word given below.

STAID
Ans J 1. humourless

x 2. funky
x 3. lazy
x 4. preen

Question ID : 764584903
Status : Answered
Chosen Option: 1




Q.18 Select the most appropriate word that fills in the blank correctly and completes the sentence
meaningfully.

This glass is breakable, please _________ with care.
Ans X 1. handling

J 2. handle

/X 3. handled

x 4. handles

Question ID : 764584898
Status : Answered
Chosen Option : 2

Q.19 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a meaningful
and grammatically correct sentence.

P:who is
Q:Even strangers

R: like a person
S: respectful

Ans X" 1 PQRS
75 2.SRQP
o 3.QrRPs
/5 4.SQRP

Question ID : 764584900
Status : Answered
Chosen Option : 3

Q.20 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

Geethika, stop / bangings the door/ right away.
Ans X" 1 right away

X 2. Geethika, stop

J 3. bangings the door

X 4. No Error

Question ID : 764584894
Status : Answered
Chosen Option : 2




Q.21 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

Eating nutrition/ food is good for / a healthy mind and body.
Ans X" 1 food is good for

x 2. No Error

X 3. a healthy mind and body.

J 4. Eating nutrition

Question ID : 764584895
Status : Answered
Chosen Option : 4

Q.22 Select the correct word (HOMONYM) that fills in the blank and makes the sentence
meaningful.

Kritika said she
Ans X" 1 told

x 2.two
X 3.t0
o 4. 100

would like to go to the mall with Sofia

Question ID : 764584902
Status : Answered
Chosen Option : 4

Q.23 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a meaningful
and grammatically correct sentence.

P:live in
Q: the

R: We
S: age of Science

Ans X" 1 QRPS
o 2 rPas
/< 3.SRQP
75 4.SQRP

Question ID : 764584901
Status : Answered
Chosen Option : 2

Q.24 Select the word that is spelled correctly.
Ans X" 1 Faceticous

J 2. Facetious

x 3. Facetisious

X 4. Facetishious

Question ID : 764584905
Status : Answered
Chosen Option : 2




Q.25 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

(Runs across the classroom), Anita tripped over the cord and hurt herself.
Ans X" 1. No correction required

( 2. Running across the classroom
x 3. Runned across the classroom

x 4. Ran across the classroom

Question ID : 764584897
Status : Answered
Chosen Option: 3

Section : Basic Computer Knowledge

Q.1 Which of the following input device is a pointing device?
Ans J 1. Trackball

X 2. Keyboard
x 3. Barcode reader

75 4.0MR

Question ID : 764584906
Status : Answered
Chosen Option : 1

Q.2 Which of the following statement is FALSE?

Ans x 1. Add-ons are the software extensions to extend the functionalities of the web
browsers.

X 2. A browser is an application software.
J 3. Web browsers are the server-side programs.

X 4. Netscape Navigator is a web browser.

Question ID : 764584908
Status : Answered
Chosen Option : 4

Q.3 Which one of the following is NOT an input device?
Ans x 1. Scanner

J 2. Monitor
x 3. Digitiser

x 4. Keyboard

Question ID : 764584912
Status : Answered
Chosen Option : 3




Q4
Ans

MS-Office is a:
x 1. Hardware

J 2. Software
x 3. Malware

x 4. Firmware

Question ID : 764584913
Status : Answered
Chosen Option : 2

Q.5 Which of the following is NOT a menu item in MS-Word 2016?

Ans

75 1. Mailings
x 2. References
75 3. Layout

o 4. Tools

Question ID : 764584910
Status : Answered
Chosen Option : 1

Q.6 Which one of the following is a transport layer protocol?

Ans

X 1LRIP

/< 2.BOOTP

o 3.uoP
/< 4.DHCP

Question ID : 764584914
Status : Answered
Chosen Option : 4

Q.7 Which of the following statements is/are TRUE?

Ans

(i) Flat-bed scanners are image scanners.
(ii) Optical character recognition devices convert the bitmap images of characters to

equivalent ASCII codes.
75 1. 0nly (i)
X 2. Neither (i) nor (ii)
75 3. only (ii)
o 4. Both (i) and (ii)

Question ID : 764584911
Status : Answered
Chosen Option : 4




Q.8 With respect to e-mail, the full form of POP is:
Ans x 1. Public Office Protocol

x 2. Post Operation Protocol
J 3. Post Office Protocol

x 4. Private Office Protocol

Question ID : 764584907
Status : Answered
Chosen Option : 2

Q.9 Which of the following is NOT a valid version of Windows?
Ans X" 1 Windows 10

x 2. Windows XP
“ 3. Windows 9

x 4. Windows Vista

Question ID : 764584915
Status : Answered
Chosen Option: 3

Q.10 Which the following statement is FALSE?
Ans x 1. The Google search engine is based on the PageRank algorithm.

X 2. PageRank is a graph-based algorithm.
x 3. Larry Page and Sergey Brin are the inventors of the PageRank algorithm.

J 4. Google was founded in 1999.

Question ID : 764584909
Status : Answered
Chosen Option : 4

Section : Awareness about School Education & Examination Board & its Administration etc.
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Question ID : 764584919
Status : Answered
Chosen Option : 1




Q.2 How many periodic tests must be conducted by the CBSE schools as per the ‘Secondary
school curriculum’ Volume 1 released in 2018-19?

Ans X1 4
5 2.1
X 3.2
v 3

Question ID : 764584924
Status : Answered
Chosen Option : 3

Q.3 Inthe 9 point grading system for grade X, the rank ‘E’ awarded by the board represents:
Ans x 1. Top 1/8 of the passed students

X 2. There is no such grade in the ranking system of CBSE
J 3. failed students

x 4. Last 1/8 of the passed students

Question ID : 764584923
Status : Answered
Chosen Option : 3

Q.4 e uftkar 6 ag Irae it ¢ gaa sty w0 @ R il = g swuEt sryen ufasftaat
& w0 # uga R &, e RA=dwor sruran gruich et &1 TR ieal 3R dehl ot U e et
& ey 7 fofa d gQ, st & oref quiw 6 uftear ffdfa =t 81

Ans X 1 ZeTeEe Ria
/X 2. T gEEE
o 3. e R
/X 4. Fofa &

Question ID : 764584917
Status : Answered
Chosen Option : 3

Q.5 What is the grading scale used for assessment of co-scholastic areas in CBSE board
examinations?

Ans X" 1.7 point scale
X 2.9 point scale
x 3. 8 point scale

J 4. 5 point scale

Question ID : 764584921
Status : Answered
Chosen Option : 4




Q.6 ferer grr &t mAt fdeET Sit et @ ifdes ade ok S=a-w i afaferar @@ ugar &
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Ans X1W
o 2 s
25 3. rife Rugror
/X 4. v Wt

Question ID : 764584918
Status : Answered
Chosen Option : 4

Q.7 What is the name of the test meant for fore-telling, prediction and forecast designed to
predict the student's ability or readiness to undertake the study?

Ans X" 1. Norm-reference test
x 2. Standardised test
J 3. Prognostic test

x 4. Aptitude test

Question ID : 764584920
Status : Answered
Chosen Option : 4

Q.8 How many languages are compulsory for visually impaired students and for the candidates
with disabilities as defined in the Rights of Persons with Disabilities Act 2016?

Ans 1.2

x 2. Depends on the student

W3
X 4.3

Question ID : 764584922
Status : Answered
Chosen Option : 1

Q.9 fYeror &1 ag &= St SIAGRY 3R Yol & Teif ghaT g shgeTar 8?
Ans X1 5 &

25 2. ST g
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of 4. e @

Question ID : 764584916
Status : Answered
Chosen Option : 3




Q.10 What is a ‘Nodal Centre'?

Ans x 1. It is a school with all facilities to conduct CBSE board examinations and is easily
accessible to students

x 2. Itis a model school that best demonstrates CBSE methods
/< 3.1tis a CBSE school in Delhi

« 4. Itis a school centrally located providing all facilities for evaluation and is located in
the neighborhood of 10 schools

Question ID : 764584925
Status : Marked For Review
Chosen Option: 1
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